Sampling variability – effect of spread of population
Heights of intermediate students
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An intermediate school wants to purchase new furniture for their students, based on the median height of students in years 7 and 8. A teacher takes a sample of 30 intermediate students from Census at School to make an estimate of the population median.
A middle school wants to purchase new furniture for their students, based on the median height of middle school students in years 7 to 10. A teacher takes a sample of 30 middle school students from Census at School. 
Which sample median is likely to give a better estimate of the population median?
The 
box 
plots show the results of taking several samples of size 30 from each of the populations. 
Also shown is a collection of 200 medians from 
samples.
What
 do you notice?
Observations
Summary
)
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